interplastic

PRODUCT CARD

HANDBALL GOAL 3x2 m
TYPE 2 (PORTABLE) ALUMINIUM

Index:
106963 (whitered)
106964(white-black)

106976 (whiteblue)

T T B S TV g

‘)
a

g =
B 2
b
5 8
e
g 2
mm
3
e =
c
s 5
W o

T+48 58 511 29 60
F+48 58 511 29 80

NIP: PL 586 000 90 32
REGON: 002854249

ska 45, 80-209 Chwaszczyno, Poland

INTERPLASTIC Roger Zéttowski
Tuchom, ul. Gdyn




interplastic

Tableof contents
[ O] 1 a1 o To] 0 1=T 1 1] SO PP U PPPPPPPPPPN 3
| R o (0o [ Tox o [Tt g o] 1 o o FE PP RO PP PP PPPPPPPP 5
1 PO o (0 To [ [ox A 01U 1 oL L = RO P PP P PP PPTRPPPRPPP 5
Y 1 1= = 1] = o T 5
R 2 1V - £ 11 7= Y R 8.
R T = T (1 T PPPPPPPRR 8
R LI VAT =T =T g1 TP PP P PPPPPTP 8
AV LT Y =T (=T g b= T (ot car= T a Lo Y=Y Y/ o =TT 8.
1]
3000 |-—-|
| | | I 1 ! F

g |
=

| DRt ST RN S i L e I 13075

[

s =

INTERPLASTIC Roger 26ttowski NIP: PL 586 000 90 32 T+48 58 511 29 60 E info@interplastic.pl

Tuchom, ul. Gdyriska 45, 80-209 Chwaszczyno, Poland REGON: 002854249 F+48 58 511 29 80 I www.interplastic.pl




interplastic

Qfor | Qfor2
1 goal| goals

l. GComponentlist:

No Name

1. | Powder coated crogmrwith stripes 1pcs 2pcs

2. | Powder coatedjoal post with stripes 2pcs 4pcs
Goal frame; Gshaped steel tubgpowder
3. coated (1 left + 1 right) 2pes 4pcs
4 :orlzontal pipepowder coated length 3 1pcs 2 pes
6. | Flat spanner 13 1pcs 1pcs
7. | Allen key #5 1pcs 1pcs
8. | Allen key #6 1pcs 1pcs
9. | Crossbar and post connector 2pcs 4pcs

10. | Net hasp

11. | Net hitch @ 35pcs | 70pcs

14. | Top strut(1 Ieft + Lright)) _ 2pcs | 4pcs

35pcs | 70pcs

INTERPLASTIC Roger Zéttowski
Tuchom, ul. Gdynska 45, 80-209 Chwaszczyno, Poland

NIP: PL 586 000 90 32 ’ T+48 58 511 29 60 ‘ E info@interplastic.pl

REGON: 002854249 F+48 58 511 29 80 I www.interplastic.pl




15. | Top hingg1left + 1 righ) 2pcs 4pcs
16. | Bottom hinges (set of two) 2pcs 4pcs
17. | Post cap (knob) 2pcs 4pcs
M8x30 selflockingscrewwith hexagonal
18. head screwgDIN7991) 16pcs | 32pcs
19. | M8x80 screw DIN 603 2pcs 4pcs
20. | Rubber distance pad 2pcs 4pcs
21. | Allen screw M8x1GDIN 912) 10pcs | 20pcs
22. | Allen screw M8x2(QDIN 912) 4pcs 8pcs
23. | Allen screw M8x5%DIN 912) 4pcs 8pcs
M8x60screwwith hexagonahead screws
24, (DIN 7991 2pcs 4pcs
25. | M8 square nu{(DIN 557) 6 pcs 12pcs
26. | M8 nut(DIN 985) 6 pcs 12pcs
27. | Wing nut M8(DIN 315) 2pcs 4pcs
28. | Clamp for top hingd00 mm 2pcs 4pcs
29. | Clamp fobottom hinge85 mm 2pcs 4pcs
30. | Inner knob M8 2pcs 4pcs
31. | Square nut M8x20RN 88/M82121) 2pcs 4pcs
















